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1.One of the following banks is the oldest Public Sector 
Bank in India having branches all over India and serving 
the customers for the last 145 years and even today. 
Identify that Bank: 
[A]PunjabNationalBank 
[B]BankofIndia 
[C]StateBankofIndia 
[D] Allahabad Bank 



 

 

 
 
2. If a bank launched a “CASA campaign” , which among 
the following would be the most probable objective of 
such campaign? 
[A] To bring down Non-performing Assets (NPA) 
[B] To develop better customer relations 
[C] To bring in more new customers 
[D] To provide no frill services 



 

 

 
 
3. In which year, Goods & Services Tax was introduced in 
India? 
[A] 2017 
[B] 2016 
[C] 2018 
[D] 2019 
 



 

 

 
 
4. Who among the following is the founder of Dmart? 
[A] Shiv Nadar 
[B] Radhakrishna Damani 
[C] Harshad Mehta 
[D] Uday kotak 
 
 



 

 

 
 
5. Which Indian bank co-launched a Contactless debit card 
along with Japan’s JCB International? 
[A] Punjab National Bank 
[B] State Bank of India 
[C] HDFC Bank 
[D] Axis Bank 
 



 

 

 
 
6.) Small Finance Banks are licensed under Section 22  
of the _____________ 
A) Banking Regulation Act, 1949 
B) Negotiable Instruments Act, 1881 
C) Reserve Bank of India Act, 1935 
D) Indian Contract Act, 1872 
 



 

 

 
7) The Government of India has launched  
the_____________ with an investment of Rs.50,000 crore  
aimed at development of irrigation sources for providing a  
permanent solution from drought. 
A) Pradhan Mantri Krishi Suyojit Yojana 
B) Pradhan Mantri Krishi Suryodaya Yojana 
C) Pradhan Mantri Krishi Suraksha Yojana 
D) Pradhan Mantri Krishi Sinchai Yojana 



 

 

8) __________ is expenditure incurred on by business  
firms on 
a) new plants,  
b) adding to the stock of inventories and  
c) on newly constructed houses 
A) Consumption expenditure 
B) None of the above 
C) Investment expenditure 
D) Net exports 



 

 

 
9) e-Sanchit, an online application system, under the  
_______________ has been implemented in order to  
facilitate traders to submit all supporting documents  
electronically with digital signatures.  
A) Single Window Incentive for Trade (SWIFT) 
B) Single Window Interface for Trade (SWIFT) 
C) Single Window Initiative for Trade (SWIFT) 
D) Single Window Innovation for Trade (SWIFT) 



 

 

 
 
10) Which of the following is not the affiliated office of  
Ministry of Corporate Affairs? 
A) Competition Commission of India 
B) Serious Fraud Investigation Office 
C) Central Statistics Office 
D) Indian Institute of Corporate Affairs 
 



 

 

 
11) In September 2018, _____________ was launched  
under Ayushman Bharat to provide coverage of up to  
Rs.5,00,000 to more than 100 million vulnerable families. 
A) New Health Protection Scheme 
B) National Health Prevention Scheme  
C) National Health Promotion Scheme 
D) National Health Protection Scheme 
 



 

 

 
 
12) Contingency Fund is at the disposal of the  
____________ 
A) President 
B) Chief Minister  
C) Cabinet Minister 
D) Prime Minister  
 



 

 

 
 
13) Stand Up India Scheme is anchored by which of the  
following? 
A) Department of Higher Education 
B) Department of Science and Technology 
C) Department of Financial Services 
D) Department of Social Welfare 
 



 

 

 
 
14) ‘No change in the seller’s expectations regarding  
future prices’, is the assumption of which of the following  
laws of Economics? 
A) Law of Increasing Returns to Scale 
B) Law of Supply 
C) Law of Diminishing Returns to Scale 
D) Law of Demand 



 

 

 
 
 
15) When there is an excess of exports over imports, it is  
called_____________ 
A) Favourable Balance of Payment 
B) Unfavourable Balance of Payment 
C) Favourable Balance of Trade 
D) Unfavourable Balance of Trade 



 

 

 
 
16) All revenues raised by the government, money  
borrowed and receipts from loans given by the  
government flow into the____________ 
A) Net Fund of India  
B) Revenue receipts 
C) Consolidated Fund of India  
D) State Governments Fund of India  



 

 

 
 
17) The Revenue Budget records all _____________ and  
_______________ 
A) Revenue receipts and Capital expenditure  
B) Revenue expenditure and Capital expenditure  
C) Revenue receipts and Capital receipts  
D) Revenue receipts and Revenue expenditure 
 



 

 

18) The formula to compute GNP at Market Prices is: 
A) GNP at Market Prices = GDP at Market Prices + Net  
Income from Abroad 
B) GNP at Market Prices = GDP at Market Prices +  
Depreciation 
C) GNP at Market Prices = GNP at Market Prices +  
Depreciation 
D) GNP at Market Prices = GDP at Market Prices – Net  
Income from Abroad 



 

 

 
 
 
19) Banks are classified into_____________ 
A) Four categories 
B) Seven categories 
C) Six categories 
D) Five categories 
 



 

 

 
 
 
20) If ep = 0, then it signifies: 
A) Perfectly Elastic Demand 
B) Perfectly Inelastic Demand 
C) Relatively Inelastic Demand  
D) Unitary Elastic Demand 
 



 

 

 
 
21) ___________ gives power to the government to  
withdraw funds from the Consolidated Fund of India for  
meeting the expenditure during the financial year.  
A) Ordinary Bill  
B) Finance Bill  
C) Appropriation Bill 
D) Constitution Amendment Bill  



 

 

 
 
22) Recognising the need for skill development in India,  
which of the following policies was formulated by the 
Government of India in 2009? 
A) National Skill Innovation Policy 
B) National Skill Development Policy 
C) National Skill Growth Policy 
D) National Social Development Policy 



 

 

 
 
23) All receipts and expenditure that in general do not  
entail sale or creation of assets are included under the  
________. 
A) Revenue Account 
B) Sales Account 
C) Capital Account 
D) Profit and Loss Account 



 

 

 
 
24) ____________ means a schedule of possible prices  
and amounts that would be sold at each price. 
A) Sales 
B) Profit 
C) Demand 
D) Supply 
 



 

 

 
25) In 1978, UTI was de-linked from the RBI and the  
__________________________ took over the regulatory  
and administrative control place in place of RBI. 
A) Small Industries Development Bank of India  
B) Industrial Finance Corporation of India 
C) Industrial Development Bank of India  
D) National Bank for Agriculture and Rural Development  
 



 

 

 
 
26) In India, the ________________ is the apex banking  
institution that regulates the monetary policy in the  
country.  
A) State Bank of India  
B) Canara Bank 
C) Reserve Bank of India  
D) Oriental Bank of Commerce 



 

 

27) Which of the following is / are considered for  
calculating National Income according to the Expenditure  
Method? 
A) Government Expenditure; Investment Expenditure  
and Net Exports 
B) Net Exports and Consumption Expenditure 
C) Consumption Expenditure  
D) Consumption Expenditure; Investment Expenditure;  
Government Expenditure and Net Exports 



 

 

 
 
28) City Union Bank is covered under which of the  
following categories? 
A) None of the above 
B) New Private Sector Bank 
C) Public Sector Bank 
D) Old Private Sector Bank 
 



 

 

29) The formula to calculate Income Elasticity of Demand  
is:   
A) Percentage Change in Quantity Demanded – 
Percentage Change in Income  
B) Percentage Change in Quantity Demanded +  
Percentage Change in Income  
C) Percentage Change in Quantity Demanded x  
Percentage Change in Income 
D) Percentage Change in Quantity Demanded /  
Percentage Change in Income 



 

 

 
 
30) Which method of calculating National Income has the  
risk of ‘Double Counting’? 
A) Profit Method 
B) Expenditure Method 
C) Product Method 
D) Income Method 
 



 

 

 
31) Windfall gains like, prizes won, lotteries etc. should  
not be included in the estimation of national income is the  
precaution to be followed under which of the following  
methods of computing national income? 
A) Profit Method 
B) Product Method 
C) Expenditure Method 
D) Income Method 



 

 

32) The formula to calculate NDP at Factor Cost is: 
A) NDP at Factor Cost = Gross Value Added at Factor  
Cost + Depreciation 
B) NDP at Factor Cost = Gross Value Added /  
Depreciation 
C) NDP at Factor Cost = Gross Valued Added at Factor  
Cost - Depreciation 
D) NDP at Factor Cost = Gross Value Added at Factor  
Cost x Depreciation 



 

 

 
 
33) If quantity supplied changes by a lower percentage  
than a percentage change in price, it is termed as: 
A) Relatively Less-Elastic Supply 
B) Relatively Greater-Elastic Supply 
C) Unitary Elastic Supply 
D) Perfectly Inelastic Supply 
 



 

 

34) ‘Estimating net value added by each producing  
enterprise as well as each industrial sector and adding up  
the net value added by all the sectors”, is a step  
considered for calculating National Income under which of  
the following methods? 
A) Value Added Method 
B) Profit Method 
C) Expenditure Method 
D) Income Method 



 

 

 
35.Where is the headquarters of the Fino Payment Bank 
located? 

[A] Mumbai 

[B] Ahmedabad 

[C] Cochin 

[D] Chennai 
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1. What is the new name of FACEBOOK? 

a. GIGA 
b. BYTE 
c. META 
d. FRIENDS 

 



 

 

 
 

2.Which Actor won the National award for best Actor ? 

a. Dhanush 
b. Rajnikant 
c. Sushant singh Rajput 

 



 

 

 

 

3.Where is the headquarter of CANARA BANK? 

a. Cochin 
b. Bangaluru 
c. Chennai 
d. Trissur 



 

 

 

 

4.Ritesh Agarwala is the founder of which start up ? 

a. Oyo rooms 
b. Zomato 
c. Swiggy 
d. Paytm 



 

 

 

5.Which of the following is India’s first payments bank? 

[A] Jio Payments Bank Ltd 
[B] Paytm Payments Bank 
[C] India Post Payments Bank 
[D] Airtel Payments Bank 



 

 

 
6.How many medals so far India has won in Athletics at 
the Olympics? 

[A] 3 

[B] 1 

[C] 2 

[D] 4 



 

 

7.What is the name given to thr group of nations 
consisting of the United States, India, Australia and Japan? 

[A] G4 

[B] BRICS 

[C] SAARC 

[D] QUAD 



 

 

8.Which country launched its first ever mega food park 
project in India, at Fanidhar, Gujarat? 

[A] France 

[B] Israel 

[C] Italy 

[D] USA 



 

 

9) Who presented the 90th Union Budget for 2020-2021 in 
India? 

A) Amit Shah 

B) Anurag Singh Thakur 

C) Nirmala Sitharaman 

D) Smriti Irani 



 

 

10) Name the country which is going to host the new 
edition of AIBA (International Boxing Association) world 
cup 2020? 

A) Cuba 

B) Russia 

C) China 

D) Indonesia 



 

 

 

11) In light of the decision taken by the Union Government on removal of Article 
370 of Indian  

Constitution, which of the following is correct? 

A) Jammu & Kashmir is Union Territory and Ladakh is a State 

B) Jammu & Kashmir and Ladakh are two separate States 

C) Jammu & Kashmir is State and Ladakh is Union Territory 

D) Jammu & Kashmir and Ladakh are two separate Union Territories 



 

 

12) In which Indian City, the India Post launched India’s 
1st digital parcel locker service. 

A) Kolkata 

B) Chennai 

C) New Delhi 

D) Ranchi 



 

 

13) Supreme Court has lifted ban on trading in 
cryptocurrency by cancelling the circular of Reserve Bank 
of India’s(RBI) issued in 2018. The Cryptocurrency runs 
on which Technology? 

A) Cloud Compute 

B) Cyber Tech 

C) Blockchain 

D) Artificial Intelligence 



 

 

14) Name the person who heads the Committee which 
recommended the concession of commercial operation of 
train services like Rajdhani/Shatabdi to private parties. 

A) Abhijit Banerjee 

B) Bibek Debroy 

C) Kaushik Basu 

D) Gita Gopinath 



 

 

15) Name the person who has been appointed as 1stever 
ambassador of IDFC First bank. 

a) Amitabh Bachchan 

b) Aamir Khan 

c) Shahrukh Khan 

d) Deepika Pdukone 
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1. An economic resource that is expected to be of benefit 
in future is called: 

(a) Asset  

(b) Liability 

(c) Capital  

(d) Loan 



 

 

2. The lowest price at which an owner is willing to sell his 
security is: 

(a) Ask 

 (b) Call 

(c) Put 

 (d) Book value 



 

 

3. Market situation where stock price are falling 
consistently: 

(a) Stag  

(b) Bear 

 (c) Bull  

(d) Badla 



 

 

4. Market situation where one expects a rise in price so 
that he can later sell at a high price: 

(a) Stag 

 (b) Bear 

(c) Bull  

(d) Balia 

 



 

 

 

5. The riskiness inherited in firm’s operations if it uses no 
debt: 

(a) Business risk  

(b) Beta  

(c) Market risk  

(d) Zero risk 



 

 

 

6. Option to buy a security is: 

(a) Call option  

(b) Put option 

(c) Hedging 

 (d) Arbitrage 

 



 

 

7. Commercial papers are: 

(a) A type of long term promissory note 

(b) Transferable certificate of ownership of investment 

(c) Bond that pays no annual interest but sold at discount 
and redeemed at par 

(d) Unsecured, short term promissory note of large firms 
usually issued in denominations of Rs. 1,00,000 or more 



 

 

8. Business combination of two or more entities that 
occurs when the entities transfer all their net assets to a 
new entity created for that purpose: 

(a) Demerger  

(b) Consolidation 

(c) Joint Venture  

(d) None of these 



 

 

9. Stock that provides constant dividends and stable 
earnings over a period of economic down turn also: 

(a) Aggressive stock  

(b) Debenture 

(c) Defensive stock  

(d) Bond 

 



 

 

 

10. Security whose price is derived from one or more 
underlying assets: 

(a) Shares  

(b) Debentures 

(c) Bonds  

(d) Derivatives 



 

 

11. In which of these, the listener puts himself in place of 
the speaker? 

(a) Focused listening 

(b) Evaluative listening 

(c) Attentive listening 

(d) Empathetic listening 



 

 

 

 

12. A successful manager should be a trained listener. 

(a) True 

(b) False 

 



 

 

13. Which of these should be avoided for effective 
listening? 

(a) Pre-listening analysis 

(b) Listening to structured talks 

(c) Team listening 

(d) Predicting 



 

 

14. In which of these does the listener pick up special 
features of the speech? 

(a) Listening in conversational interaction 

(b) Listening to structured talks 

(c) Predicting 

(d) Team listening 



 

 

15. A well organised talk is a __________ talk. 

(a) short 

(b) long 

(c) random 

(d) structured 



 

 

16. Which of these should be avoided in pre-listening 
analysis? 

(a) Mental discipline 

(b) Concentration 

(c) Prejudices 

(d) Patience 



 

 

 

 

17. Predicting is the technique to forecast what the speaker 
will say. 

(a) True 

(b) False 



 

 

18. In which of these, should the listener be able to make 
connections between different segments of the speech? 

(a) Listening to structured talks 

(b) Links between parts of the speech 

(c) Team listening 

(d) Predicting 



 

 

 

19. Which of these is based of effective listening? 

(a) Note taking 

(b) Notice writing 

(c) Letter writing 

(d) Predicting 



 

 

 

20. Which of these should be avoided while note taking? 

(a) Concentration 

(b) Evaluation 

(c) Listening 

(d) Using phrases 



 

 

 

21. Which of these is not a type of text for reading? 

(a) Reference material 

(b) Chats 

(c) Scientific text 

(d) Technical text. 



 

 

22. Which of these is not a deterrent to the listening 
process? 

(a) Lack of interest 

(b) Ego 

(c) Confidence 

(d) Fear 



 

 

 

 23. Full form of IMAP: 

(a) Internet Message Access Plan 

(b) Internet Message Access Protocol 

(c) Intranet Message Access Protocol  

(d) None of the above. 



 

 

 

24. Full form of POP: 

(a) Post office plan  

(b) Point office protocol 

(c) Post office protocol  

(d) Point office plan. 



 

 

 

25. Which year was water shed year in e-mail marketing? 

(a) 1946  

(b) 1956 

(C) 1966  

(d) 1976 



 

 

 

26. Uses of Internet: 

(a) Sending e-mail  

(b) Tele conferencing 

(c) E- commerce  

(d) All of the above 



 

 

27. It is an electronic, cost- effective and fastest mode of 
communication as of today. 

(a) Internet  

(b) E-mail 

(c) E- Correspondence 

 (d) None of the above 



 

 

28. In year __________ the MIT was the first to 
demonstrate the use of the first e-mail system, known as 
MAIL Box  

(a) 1965  

(b) 1974 

(c) 1976 

 (d) 1968 



 

 

 

29. Full form of FTP is 

 (a) Full time protocol 

(b) File transfer program 

(c) Fun time program 

(d) File transfer protocol 



 

 

30. The __________ option allows us to share documents, 
work sheet, presentations, pictures and videos along with 
the mails 

(a) Spam  

(b) Interface 

(c) Attachments  

(d) None of the above 



 

 

 

31. Which of this is not an advantage of EMAIL? 

(a) Managing E-mail is easy 

 (b) E-mail is fast  

(c) E-mail is Inexpensive  

(d) Security 



 

 

 

32. Purposes of Intranet: 

(a) Internet Communication 

(b) Send private messages 

(c) Used as a corporate culture-change platform  

(d) All of the above. 



 

 

 

33. Full form of HTML is: 

(a) Hyper text mail language 

(b) Hyper transfer markup language 

(c) Hyper text markup language 

(d) High time markup language 



 

 

34. Free of cost repair of software bug available at Internet 
is called .... 

(a) Version 

(b) Ad-on 

(c) Tutorial 

(d) Patch 



 

 

 

35. The Internet was originally a project of which agency? 

(a) ARPA 

(b) NSF 

(c) NSA 

(d) None of these 
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1. A contract creates 

a) Rights is Personam 

b) Rights in Rem 

c) No obligations 

d) Only obligations and no rights 



 

 

 

2. Valid Contracts 

a) Are made by free consent 

b) Are made by competent party 

c) Have lawful consideration and lawful object 

d) All of the above 



 

 

3. A lends Rs 10 lakh to B for a year, After 

one year A’s right to recover the money from B is a 

a) Right in rem 

b) Right in personam 

c) Moral right 

d) Civil right 



 

 

 

4. What comes first in a valid contract is 

a) Enforceability 

b) Money 

c) Force 

d) None of the above 



 

 

5. A has bought a house for Rs 50,000. 

Which of the following right is available to A after the purchase? 

a) He has a right against the seller to have quiet possession of the house and enjoy 
in it 

b) He has a right against the whole world to have quiet possession of the house and 
enjoy in it 

c) He has moral right over the house 

d) He has a right to live in the house but cannot sell 



 

 

6. An agreement not enforceable by law is 

said to be void under section…. Of the 

Indian Contract Act. 

a) 2 (a)  
b) 2 (b) 
c) 2 (f) 
d) 2 (g) 



 

 

 

7. An agreement to commit a tort is 

a) Void 

b) Voidable 

c) Valid 

d) Unenforceable 



 

 

 

8. Agreement to murder a person 

a) Cannot be enforceable by law 

b) Is valid in law 

c) In invalid for want of consideration 

d) Has no consensus ad idem 



 

 

9. Agreements that do not give rise to 

contractual obligations are not contracts. 

a) True 

b) Partly True 

c) False 

d) None of the above 



 

 

10. A invites B for his son’s wedding. B 

accepts the invitation. In this case, there is an agreement 
but no contract, since 

a) There is no consideration 
b) There is no intention to create legal relationship 
c) There is no written document 
d) There is no formal acceptance of the offer 



 

 

11. A invites B for coffee in coffe-day 
restaurant and B accepts the invitation. 
On the appointed date, B goes there but A is not found. In this case 
a) B has no remedy against A 
b) B has to wait for another invitation from 
A 
c) B has the right to sue A for not honoring 
his words 
d) A has to invite B again, to perform the 
promise. 



 

 

12. A promises to give Rs. 5,000 per month 

pocket money to his son B. If A does not give the pocket 
money 

a) B can sue his father 
b) B has no remedy against A 
c) B can accept a lower pocket money also 
d) B has to give Rs. 5,000 to his father 



 

 

13. A promised to pay his son B a sum of Rs1 lakh if B passed CA exams in the 
first attempt. B passed the exam in the first attempt, but A failed to pay the amount 
as promised. B files a sit for recovery of the amount. State whether B can recover 
the amount under the Indian Contract Act,1972. 

a) B can sue A 

b) B has to pay Rs 1 Lakh to A 

c) B has no remedy against A 

d) B has to write the exam again, to claim the reward 

 



 

 

 

14. A contract creates 

a) Rights and obligations of the parties to it 

b) Obligations of the parties to it 

c) Mutual understanding between the parties to it 

d) Mutual lawful rights and obligations of the parties to it. 



 

 

15. In agreements of purely domestic nature, 

the intention of the parties to create legal relationship is 

a) To be proved to the satisfaction of the Court 

b) Presumed to exist 

c) Required to the extent of consideration  

d) Not relevant at all 



 

 

16. An agreement is valid 

a) Which creates legal and social obligations of the parties 

b) Which creates rights of a party 

c) Which is written on a piece of paper and signed by the 
parties 

d) Which creates legally binding right and obligations of 
the parties to it. 



 

 

17. Voidable contract is one 

a) Which is lawful 

b) Which is invalid 

c) Which is valid as long as it is not avoided by the party 
entitled to do so 

d) Which is unlawful 



 

 

18. When the contract is perfectly valid but 

cannot be enforced because of certain technical defects. 
This is called 

a) Unilateral Contract 
b) Bilateral Contract 
c) Unenforceable Contract 
d) Void Contract 



 

 

 
19. A COMPANY IS NAMED AS GOVERNMENT 
COMPANY IF IT IS HOLDS ______% OF PAID UP 
SHARE CAPITAL  
A) MORE THAN 30  
B) MORE THAN 40  
C) MORE THAN 51  
D) NONE  



 

 

20.THEY ADVISE ON ARBITRATION, 
NEGOTIATION AND CONCILIATION IN 
COMMERCIAL DISPUTES BETWEEN THE PARTIES 
AND DRAFTING ARBITRATION/CONCILIATION 
AGREEMENT/CLAUSE. WHO IS ‘THEY’ HER 
A.PCA 
B.CS 
C.PCS 
D.LLB 
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(1-10 MCQs x 2 Marks = 20 Marks)  

(11 -20 MCQs x 1 Mark = 10 Marks) 

 



 

 

 

1. Which of the following is a correct format of Email 
address? 

(a) name@website@info 

(b) name @website.info 

(c) www.nameofebsite.com 

(d) name.website.com 



 

 

 

2. HTML is used to create 

(a) machine language program 

(b) high level program 

(c) web page 

(d) web server 



 

 

 

3. The computer jargon - WWWW, stands for: 

(a) World Wide Web Worm 

(b) World Wide Wildlife Web 

(c) World Wide Women's Web 

(d) World Wide Women's Week 



 

 

4. The process of transferring files from a computer on the 
Internet to your computer is called 

(a) Uploading 

(b) Forwarding 

(c) FTP 

(d) Downloading 



 

 

 

5. In internet terminology IP means 

(a) Internet Provider 

(b) Internet Protocol 

(c) Internet Procedure 

(d) Internet Processor 



 

 

 

6. A Web site's front page /main page is called 

(a) Browser Page 

(b) Search Page 

(c) Home Page 

(d) Bookma 



 

 

 

7. Which one of the following is not a search engine? 

(a) Bing 

(b) Google 

(c) Yahoo 

(d) Windows 



 

 

 

8. Verification of a login name and password is known as: 

(a) configuration 

(b) accessibility 

(c) authentication 

(d) logging in 



 

 

 

9. Internet explorer falls under: 

(a) Operating System 

(b) Compiler 

(c) Browser 

(d) IP address 



 

 

 

10. What is the full form of WWW in web address ? 

(a) World Wide Web 

(b) World Wide Word 

(c) World Wide Wood 

(d) None of these 



 

 

 

11. Full form of HTML is: 

(a) Hyper Text Markup Language 

(b) Hyper Text Manipulation Language 

(c) Hyper Text Managing Links 

(d) Hyper Text Manipulating Links 



 

 

 

12. Moving from one website to another is called : 

(a) Downloading 

(b) Browsing 

(c) Uploading 

(d) Attachment 



 

 

 

13. A computer on internet are identified by : 

(a) e-mail address 

(b) street address 

(c) IP address 

(d) None of the above 



 

 

14. A reduction in the price of goods given to encourage 
sale on cash basis: 

(a) Trade Discount  

(b) Commission 

(c) Cash Discount  

(d) Sales Discount 



 

 

15. A marketing activity directed from one business to 
another: 

(a) B2B 

 (b) B2C 

(c) C 2 B  

(d) C 2 2 



 

 

16. Company that has control over a certain market: 

(a) Market leader  

(b) Market Follower  

(c) Mass marketing 

 (d) Market segment 

 



 

 

17. 4 P’s of marketing: 

(a) Price, Plan, Place, Product 

(b) People, Planet, Plant, Product 

(c) Price, Product, People, Promotion 

(d) Product, Price, Place, Promotion 



 

 

18. Pricing strategy that involves setting lower prices in 
order to discourage potential new entrants to suppliers 
market:  

(a) Penetration Policy  

(b) Skimming 

(c) Pre-Emptive Pricing  

(d) Market Price 



 

 

19. A skill, resource or other advantage that firm has 
relative to its competitors that is important to serving the 
needs of customer in market place: 

(a) Strength  

(b) Weakness 

(c) Opportunity  

(d) Threat 



 

 

 

20. Limitation or lack of skills in effective performance:  

(a) Strength  

(b) Weakness 

(c) Opportunity  

(d) Threat 
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                     LOGICAL REASONING 
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1. In a certain code ‘CALANDER’ is written as 
‘CLANAEDR’. How is ‘CIRCULAR’ written in that 
code? 
(a) ICCRLURA  
(b) CRIUCALR 
(c) CRIUCLRA  
(d) CRIARLCU 
 



 

 

2. In a certain code, ‘CLOCK’ is written as ‘XOLXP’. 
How will ‘LOTUS’ be written in that same code? 
(a) OGLFH  
(b) OLGFH 
(c) LOGFH  
(d) OLGHF 
(e) None of these 
 



 

 

3. In a certain code, ‘LATE’ is written as ‘VGZO’. 
How will ‘SHINE’ be written in that same code? 
(a) VRMSH  
(b) VMSHR 
(c) VMRSH  
(d) MVRSH 
(e) None of these 
 



 

 

4. If LOFTY is coded as LPFUY, then DWARF will be 
written as 
(a) DXASF  
(b) DXBSG  
(c) DXATF 
(d) DWBSG  
(e) None of these 
 



 

 

5. In a coding system, ‘JUNE’ is written as ‘PQRS’ and 
‘AUGUST’ is written as ‘WQFQMN’. How can 
‘GUEST’ be written in the same coding language? 
(a) FQTMN  
(b) FPSMN 
(c) FQSMN  
(d) FQSNM 
(e) None of these 



 

 

 

6.  Look at this series: 21, 9, 21, 11, 21, 13, 21, ... What 
number should come next? 
A. 14 
B. 15 
C. 21 
D. 23 

 



 

 

 
7. Look at this series: 58, 52, 46, 40, 34, ... What 
number should come next? 
A. 26 
B. 28 
C. 30 
D. 32 

 



 

 

 
8.  Look at this series: 3, 4, 7, 8, 11, 12, ... What 
number should come next? 
A. 7 
B. 10 
C. 14 
D. 15 

 



 

 

 
9.  Look at this series: 8, 22, 8, 28, 8, ... What number 
should come next? 
A. 9 
B. 29 
C. 32 
D. 34 

 



 

 

 
10.  Look at this series: 31, 29, 24, 22, 17, ... What 
number should come next? 
A. 15 
B. 14 
C. 13 
D. 12 

 



 

 

 
11. Look at this series: 1.5, 2.3, 3.1, 3.9, ... What 
number should come next? 
A. 4.2 
B. 4.4 
C. 4.7 
D. 5.1 

 



 

 

 
11. Look at this series: 1.5, 2.3, 3.1, 3.9, ... What 
number should come next? 
A. 4.2 
B. 4.4 
C. 4.7 
D. 5.1 

 



 

 

 
12. Look at this series: 14, 28, 20, 40, 32, 64, ... What 
number should come next? 
A. 52 
B. 56 
C. 96 
D. 128 

 



 

 

 
13.  Look at this series: 2, 4, 6, 8, 10, ... What number 
should come next? 
A. 11 
B. 12 
C. 13 
D. 14 

 



 

 

 
14.  Look at this series: 201, 202, 204, 207, ... What 
number should come next? 
A. 205 
B. 208 
C. 210 
D. 211 

 



 

 

 
15. Look at this series: 544, 509, 474, 439, ... What 
number should come next? 
A. 404 
B. 414 
C. 420 
D. 445 

 



 

 

 
 
 
 
 
 
 
 



 

 

 
 
 
 
 
 
 

 



 

 

                              
                              ECONOMICS  
             AND BUSSINESS ENVIRONMENT 
 

1 D 2 C 3 A 4 B 5 B 
6 A 7 D 8 C 9 B 10 C 
11 D 12 A 13 C 14 B 15 C 
16 C 17 D 18 A 19 A 20 B 



 

 

21 C 22 B 23 A 24 D 25 A 
26 C 27 D 28 B 29 D 30 C 
31 D 32 C 33 A 34 A 35 A 
 
 
 
 
 
 
 
 
 
 



 

 

 
 

                              CURRENT AFFAIRS 
 

1 C 2 A 3 B 4 A 5 D 

6 B 7 D 8 C 9 C 10 B 

11 D 12 A 13 C 14 B 15 A 
 
 
 



 

 

 
 

                  BUSSINESS.COMMUNICATION  
 

1 A 2 A 3 B 4 C 5 A 
6 C 7 D 8 B 9 C 10 D 
11 D 12 A 13 D 14 A 15 D 
16 C 17 A 18 B 19 A 20 B 
21 B 22 C 23 B 24 C 25 D 



 

 

26 D 27 A 28 A 29 D 30 C 
31 D 32 D 33 C 34 D 35 A 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

 
 

                                       LEGAL APTITUD 
 

1 A 2 D 3 B 4 A 5 B 

6 D 7 D 8 A 9 A 10 B 

11 A 12 B 13 C 14 D 15 A 

16 D 17 C 18 C 19 C 20 C 



 

 

 
 

                                   PRESENTATION SKILLS 
 

1 B 2 C 3 A 4 D 5 B 

6 C 7 D 8 C 9 C 10 A 

11 A 12 B 13 C 14 C 15 A 

16 A 17 D 18 C 19 A 20 B 



 

 

 
 

                        LOGICAL REASONING 
 

1 B 2 B 3 C 4 A 5 C 

6 B 7 B 8 D 9 D 10 A 

11 C 12 B 13 B 14 D 15 A 

 

 
 
 



 

 

 
 
 
 
 
 

   Thank you  
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